



St. Louis County, Minnesota

Date of Report: 5/9/2025 7:41:26 PM

General Details

 Parcel ID:
 215-0010-03330

 Document:
 Abstract - 01071316

 Document Date:
 09/13/2007

Legal Description Details

Plat Name: ANGORA

Section Township Range Lot Block

19 61 18

Description: SW 1/4 OF SE 1/4

Taxpayer Details

Taxpayer NameHYPPA SAMUEL Eand Address:8723 JOHNSON RDANGORA MN 55703

Owner Details

Owner Name HYPPA SAMUEL E

Payable 2025 Tax Summary

2025 - Net Tax \$1,735.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$1,820.00

Current Tax Due (as of 5/8/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$910.00	2025 - 2nd Half Tax	\$910.00	2025 - 1st Half Tax Due	\$910.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$910.00	
2025 - 1st Half Due	\$910.00	2025 - 2nd Half Due	\$910.00	2025 - Total Due	\$1,820.00	

Parcel Details

Property Address: 8723 JOHNSON RD, ANGORA MN

School District: 2142
Tax Increment District: -

Property/Homesteader: HYPPA, SAMUEL E

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$46,000	\$198,400	\$244,400	\$0	\$0	-	
111	0 - Non Homestead	\$27,300	\$0	\$27,300	\$0	\$0	-	
	Total:	\$73,300	\$198,400	\$271,700	\$0	\$0	2471	





St. Louis County, Minnesota

Date of Report: 5/9/2025 7:41:26 PM

Land Details

 Deeded Acres:
 40.00

 Waterfront:
 RICE RIVER

 Water Front Feet:
 830.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 **Lot Depth:** 0.00

		Improve	ment 1 Do	etails (HOUSE	E)				
Improvement Type	Year Built	Main Floor Ft ² Gross Area		Gross Area Ft ²	Basement Finish	Style Code & Des			
HOUSE	1940	1,668 1,866		OLD Quality / 417 Ft ²	RAM - RAMBL/RNO				
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	4	11	44	BASEMENT				
BAS	1	12	22	264	FLOATING	SLAB			
BAS	1	15	32	480	BASEM	ENT			
BAS	1	22	28	616	BASEM	ENT			
BAS	1.7	12	22	264	FLOATING	SLAB			
CW	1	4	9	36	BASEM	ENT			
CW	1	10	24	240	POST ON G	ROUND			
DK	1	0	0	183	POST ON G	ROUND			
DK	1	4	8	32	POST ON G	ROUND			
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC			
1.5 BATHS	2 BEDROOM	ИS	5 ROOM	//S	0	CENTRAL, FUEL OIL			
Improvement 2 Details (GARAGE)									
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish Style Code				
GARAGE	1950	768	8	768	-	DETACHED			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	24	32	768	FLOATING SLAB				
		Improveme	ent 3 Deta	ils (POLE BLI	DG)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des			
POLE BUILDING	0	1,20	00	1,200	-	<u>-</u>			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	30	40	1,200	POST ON G	ROUND			
		mproveme	nt 4 Detai	Is (LOG GARA	AGE)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des			
GARAGE	0	128	8	128	-	DETACHED			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	8	16	128	POST ON GROUND				
		Improve	ment 5 Do	etails (SAUNA	A)				
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish Style Code & D				
	0	128	0	128					
SAUNA	0	120	O	120	-	-			





St. Louis County, Minnesota

Date of Report: 5/9/2025 7:41:26 PM

	.,	-	nent 6 Details	•					
Improvement Type Year Built			Main Floor Ft ² Gross Area Ft ²		Basement Finish	asement Finish Style Code & Desc.			
STORAGE BUILDING 0			80 80		- Found	latian	-		
Segment Story BAS 1			Width Length Area						
DAS	<u>'</u>		8 10 80 POST ON GROUND						
		•	ment 7 Details	•					
Improvement Type			Main Floor Ft ² Gross Area Ft ²			Basement Finish Style Code & Desc.			
STORAGE BUILDIN			456 456						
Segmei BAS	nt Stor		Width Length Area		Foundation				
DAS			12 38 456 POST ON GROUND						
		Sales Reported	to the St. Lou	iis County Au	ditor				
Sal	e Date		Purchase Price			CRV Number			
	/2007		\$1		180464				
05	5/2006		\$170,000			171326			
05	5/2000		\$90,000			134070			
		A:	ssessment His	story					
	Class Code	Land	Bldg	Total	Def Land	Def Bldg	Net Tax		
Year	(Legend)	EMV	EMV	EMV	EMV	EMV	Capacity		
	201	\$49,700	\$179,900	\$229,60	0 \$0	\$0	-		
2024 Payable 2025	111	\$30,000	\$0	\$30,000	\$0	\$0	-		
	Total	\$79,700	\$179,900	\$259,60	0 \$0	\$0	2,337.00		
	201	\$40,100	\$179,900	\$220,00	0 \$0	\$0	-		
2023 Payable 2024	111	\$23,100	\$0	\$23,100	\$0	\$0	-		
Í	Total	\$63,200	\$179,900	\$243,10	0 \$0	\$0	2,257.00		
	201	\$40,100	\$171,800	\$211,90	0 \$0	\$0	-		
2022 Payable 2023	111	\$23,100	\$0	\$23,100	\$0	\$0	-		
	Total	\$63,200	\$171,800	\$171,800 \$235,000		\$0	2,168.00		
	201	\$45,300	\$145,100	\$190,40	0 \$0	\$0	-		
2021 Payable 2022	111	\$24,000	\$0	\$24,000	\$0	\$0	-		
	Total	\$69,300	\$145,100 \$214,40		0 \$0	\$0	1,943.00		
,		7	Tax Detail Hist	ory					
				•					
		Special	Total Tax & Special		Taxable Bu				
Tax Year	Tax	Assessments	Assessments		nd MV MV	То	otal Taxable MV		
2024	\$1,995.00	\$85.00	\$2,080.00	\$60,02					
2023	\$1,987.00	\$85.00	\$2,072.00	\$59,762			\$216,831		
2022	\$2,009.00	\$85.00	\$2,094.00	\$64,517	7 \$129,7	79	\$194,296		





St. Louis County, Minnesota

Date of Report: 5/9/2025 7:41:26 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.